Basic Integration Problems

l. Find the following integrals.

1. J‘(5x2 —8x +5)dx

N

. j(—6x3 +9x% +4x —3)dx

3. j(x%+2x+3)dx 4, j(g—iz+%]dx
X X X
‘\/_ 1 3 5
5  |(Wx+—=)dx 6. |(12x* —9x3)dx
| I )
.2
7. X 8. J‘idx
J X XA/ X
9. f@+3nt’dt 10 [(2t* -1)* dt
11 [y*gfydy 12. [do
13 [7sin(x)dx 14.  [5cos(0)do
15.  [9sin(3x)dx 16. [12cos(46)do
. X
17. |7 cos(5x)dx 18. |4sin| — |dx
[7cos(5%) | (3]
19. [ae ™ dx 20.  [9e*dx

21. j—scos X dx 22. j—13e6tdt
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Evaluate the following definite integrals.
f(sz —8x +5)dx

° 1
. L (\/§+ﬁ)dx

2
. L(l+3t)t2 dt

9 3
2. L (x? +2x+3)dx

4
4, J‘%dx
1 X

6. [ (@ -1t



Find the following integrals.

1. [(6x* -8x+5)dx =

2. j(—6x3 +9x% +4x—3)dx =

3. J'(x% +2x+3)dx = 2X

Solutions

5x3

= 4x* +5x+C

4

X 3% +2x2 —3x+C

S
2
+x>+3x+C

8 5 6
4. ———+— |dX
J-(X X XSJ

=8Ln(x) -

5xt  6x7
+
-1 -2

= j-(g —5x72 + 6x‘3jdx
X

= 8Ln(x)+§—%+c
X X

5. J-(x/;+$)dx= J{x;+%x_;jdx

N‘w|>l<\:\w

1
2 3 1
+1X—= —Xx2+=x?+C
31 [3° '3
2
3 5 !z g
J‘(lZXZ —9x%)dx = 48x+  27x3
7 8
.2
X J2r4dx: J‘1+4x“2 d=|x-24c
J X X
. 1 7§ 2
——=dx= _fx 2dx =|——=+C
J XX Jx
3 4
fa+sntrdi= [ t*+3t° dt = %+3%+C
5 3
10 [(2t* -1)°dt = [ 4t* —4t* +1 dt = M e
B 3
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. Iyzé/Ydy:jy3dy:3lyo +C 12. jd6=
. [7sin()dx = [-Tcos(x) +C 14.  [5cos(0)d6 = [5sin(9) +C
. _[93in(3x)dx:|—3005(3x)+C| 16. _lecos(40)d6?: 3sin 40 +C
. j?cos(Sx)dx: 7SL(5)()+C 18. j4sin(5 dx = —12005(§)+C
5 3 3
—7x X X
. j4e-”dx=—4e7 e 20. [Oe*dx =36 +C
H 6t
. [-5c0s zx dx= _Ssin(rx) | ¢ 22. [-13"dt = B¢
4 6
Evaluate the following definite integrals.
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[*(5x* ~8x+5)dx = SX _axz x| =188 _8 g0
1 3 |3 3
5 9
3 2
[PxF +2x+3)dx = X e gax| 2102622 1001 o,
1 5 5 5 |5
1
o 1 2 2 9 1Y 20 [40
(WX +—=)dx=| Sx? +=x2 | =20-="=|—==13.333
Ja 3Vx 3° 3 ), 3 |3
o4 4
Sg- 5] 5.5 B 5
Ji X 2X° |, 32 2 |32
2 £ 3\ 44 5 [57
[a+snttdt=| —+= | ==-=2=12-=1425
= 3 4), 3 12 |4
5 3 !
[ @t -1dt= R Ao i LAY
2 5 3 ), 15 15 |[5



